36+ ]=100 = 36 +4 +60 =100 — 36+ 64 = 100

236 +[ |=3 - 236+ 004 +060=3 - 236 +064=3

55+ =100 62 +[ | =100
155+ =2 262+ ]=3 » Use your bonds
to get to the nex
whole number o
49 +[ =100 multiple of 10. .
549 + D =0

If you know 047 + 0:53 = | what other
additions do you know? Can you write
three more similar additions?

For example, 4700 + 5300 = 10000



s

Use your bonds
e B ' to get to the next
. topyand complete each statement. whole number or
- e - - multiple of 10.

2249+ ]+[]=30

1952 + [ |+[ ]=27 |
884+ |+ ]=18 |
762+ |+ |=28

S

1627 + 073 +[ |=25
735+ J+[ =15

1516 +{ 1+ ]
138+ |+ ]

19

21

[ ]+033+[ ]=19 |

Give two different possible answers to this problem.




